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SCHOLARS ACADEMY

General Intelligence and
Reasoning

1. Select the option that is related to the word-pair in
the same way as are the two numbers of the given
word-pair.

Continent : Land

I W3- BT 997 v, Rrad Ry ¢ oFf ol &

g;ﬁ’rwu% W fu 7T Aeg-gm F ST Tl F
|

e : i

a) Ocean : Pacific/ 3R : b) Ocean : water/ HER :
PRUG] grT

c) Mountain Greenery d) Island - Water/g1q : OHT
/OIS : gRarat

2. Two statements are given followed by three
conclusions numbered I. Il and Il. Assuming that
the information given in the statements true, even
if it appears to be at variance with commonly
known facts, decide which of the conclusions
logically follow(s) from the statements.

3 Py 3 T § e 3R 1, 1 3R | Fifsrd

#9 fAepd w3d €1 98 aFa ge fr e e sy A &

T§ SFHR 9 §, Wd 8 g8 9Ha: 9d 9l 9

i yedta gt g1, a5 fofg & 6 ik Tad fs &=

/A Frepd, HY=1 o1 afdh® T F TR A/

/8

Statement/HhY- :

%— No male is surgeon/ﬂﬁg oy qeq fafecs a8t
|

2- All painters are surgeonm'l-ﬁ ICECI T o

fafew® &

Conclusions/f s :

I. Some surgeons are painters/$® I-fafecas

R g

Il. No painter is male/ﬂﬁ%mﬂwqﬁ?

11l. Some painters are male/ Wﬁﬁﬁﬂ?w%l

a) Both conclusions | and Il b) Either conclusion Il or llI
follow FIsBY | 3R 11 GF1 follow TT Al BN 11 AT 11
B SR FRA B SR Rl

¢) Both conclusions Il and lll d) Both conclusions | and I
follow B 11 3R 111 Y follow fspY | 3R 111 S
B SR #RA B B SR R B

3. Select their option that is related to the third letter-
cluster in the same way as the second letter-cluster
is related to the first letter - cluster.

39 fawed &1 99+ &9, oIeT TR serRagg & 91y
TG HY B, S gAY SHER-UYE BT UgA HER-UYE b

g gl

COQY : BTRF:: KSUT :?
a) WXUN b) WXVN
) VXYN d) VXVM

4. Select the option in which the given figure-X is
embedded/hidden (Rotatlon is not allowed)
39 APy &1 999 &, forad & w5 smepfa x
&Hﬁf?ﬁm%l oot 9 orwfy T )

Figure X

©
a) b)

M \4

c) d)

5. A + B means ‘A is mother of B’
A - B means 'A is brother of B’
A x B means 'A is husband of B’
A = B means 'A is father of B’
IfQ+S+TxV+W-R, then how is T related to R?
A+BHTYR-'A BHIHTE
A-BPTAYE-'A, BHFTHE
AxBHTFR-'A BHTUR T
A:BHTIR-'A BHTRAT®
G Q+S+TxV+W-RE @ THRF Y HaY
fFawud
a) Paternal uncle/dT=1 b) Father/fUdT
c) Paternal grandfather/alal d) Brother/ﬂ-ﬂé

6. Select the correct alternative to indicate the
arrangement of the following words in a logical and
meaningful order.

39 HEt Roey 31 999 %, ot Fafafee v &
adbaTa 3N 3rdyuf wu A suafRya wu ot gxifar g
1- Neck/TTg

2- Forehead/H¥d®

3- Nose/ T

4-Stomach/'aE'

5- Heart/ﬁﬁ
a) 3,2,1,54 b) 23,415
c) 23154 d) 23,145

7. Select the letter cluster that will come next in the
following series.
& TS g A AT WM W S a1 ERIAYE PT
T B
BXM, CYN, EAP, HDS, ?

a) LGW b) LHW

c) KHW d) LHV

8. Select the option that is related to the third letter-
cluster in the same way as the second letter-cluster
is related to the first letter-cluster
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SCHOLARS ACADEMY

c)

a)
c)

10.

c)

11.

a)
c)

12.

c)

13.

39 fawed &1 99+ &%, oaeT R sieragg & 91y
H‘eﬁ\%‘q"ﬂ% S gEY SHER-THE BT Ugd ER-TYE &
Yy gl

CATEGORY : ETACYROG : : FOOTBALL :?

OFTOABLL b) OOFALLAB
TOOFLLAB d) TOOFLALB
Six friends A, B, C, D, E and F's houses are located in

two of three houses each. The houses in both rows
face each other. D's house is diagonally opposite to
C's house. A’'s house is between F and C's house. B's
house is at one of- the corners. Whose house is
facing A's house from the given option?

B¢ il A, B, C, D, E 3R F & R 4 €9 fi9 =Y
1 gt ufdadl # fRua g1 g1 ufdadl § Higg R UP-
THR & 9A 1 D BTWR ¢ & R & faswvia: am= g1
APTIR, FIRCHFW P AT AR B FT TR TH SR
%’\’%I AN P 4 A FPaFT R A S RS I

?

D b) B
C d) F

Select the set in which the numbers are related in
the same way as are the numbers of the given set
39 YT BT 999 B, o & 18 G- & 9=
I8} Hay B, St f32 U T o1 wens & 99 7
4,16, 64

5., 25,150 b) 6,36, 216
2,520 d) 3,930
Select the letter that can replace the question mark

(?) in the following series

39 &R BT 999 B, 1 FAufafea goit & uyaras

g (?) & WA W) T HBAT B
A HN,S,?

Y b) W
Vv d) X

In a certain code language, ROUGH is written as
91262019. How will DECIDE be written as in that

language?

TP fAfYd HeuTaT # ROUGH FY 91262019 & FT |

foraT T 1 S}t HeHTyT § DECIDE &I frd &9 &

ferar smeTm

232225182422 b) 232224172322
222123182221 d) 232224182322

The sequence of folding a piece of paper and the
manner in which the folded paper has been cut is
shown in the following figures. How would this
paper Iook when unfolded?

P & TP gHs & He &1 HH R 98 adi@,
Rrad 48 g¢ SR &Y w1er T B, Fwifea snepfoal
# feamr T 31 W 9 R 98 N R geR
fearg ¢m

a)

<)

14.

a)

c)

15.

a)

c)

16.

a)

17.

5 %4

OUUO
Oﬂﬂ b) OUOD
°00 °nge
°ng o lo00o]

Select the correct mirror image of the given figure
when the mirror is placed at MN.

39 321 § & 7 ey F W v ufifde &1 aww
&Y, 919 gUUT B MN UR &1 AT 8 |

U

h..--c

°U°U

@E;
]

Nivya starts walking from her office and goes 150 m
towards north. Then she turns left and walks 70 m.
After that she turns right andwalk 20 m. She turns
right again and walk 70 m. She finally turns right
and walks 10 m. far and in which direction is the
form her office now?

e v Frafay ¥ g1 = Al | AR 150 m
wﬁah?aa?ﬁélﬁwaaaﬁeﬁ?gs?ﬁ%aﬁwo

E'Ii %GﬁTZOm
Jadl §1 98 T: ard 3R geddt @

b)

(e e

d)

70 m Tl B

gedt g 3R 10 m T&d 81 39 98

A Fratay | frat gr ok fra e d &2

140 m, South/140 HIEX, b) 170 m, South/170 Hicx,
afamor afamor

160 m, North/160 HIeX, d) 150.m, North/150 Hicy,
IW IW

Select the number that can replace the question
mark (?) in the following series.

39 GET FT 999 oY, o FRufafad aoft # usaree
g (2) & WHF W 3T & g

72,73, 77,86, 2, 127

100 b) 103

102 d) 99

In the diagram given below, the ‘Circle’ represents
'Girls’, the 'Triangle' represents 'Singers’ and the
'Rectangle’ represents ‘'Toppers'. The numbers given
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a)
c)

18.

c)

19.

in the diagram represent the number of persons of
the particular category.

1 fod v e W, g, "asfeal B AU Sear
2, By maemiyest & fAefa sar @ sk
3maa Rl 3 el s 81 oma § § T
@t 39 favy goft & afeaal 3t @en o g

How many girls are toppers but are not singers?

14 b) 19
16 d) 28
Read the given statements and conclusions

carefully.Assuming that the two statements are
given followed by three conclusions numbered |, 1l
and lll. Assuming that the information given in the
statements is true, even if it appears to be at
variance with commonly known facts, decide which
of the conclusions logically follow(s) from the
statements.

3 ®YF A MU § RFET SgwRur 1, 1 3R A=
forepd w3d &1 g wa g fF fow e sy A i S
PRI € §, e g1 g8 HIa: ¥1d ad | i
wdta gt Y, gg fFAofa & % v sa1d % +1= J/[
e, Byl 1 dIfbed TU / SFER B/ 2721
Statements/P Y :

1- All tanks are rivers/ﬂ‘-ﬁwqﬁiﬁ%'l

2- All rivers are mountains/ﬁmm'm?l
Conclusions/fasst : _

I. Some mountains are rivers/$® mqﬁ'ﬁ%l

Il. Some tanks are not mountains/$® WIR Ugls
T el

11l. Some mountains are tanks/ﬁ%ﬁ}'ﬂﬁﬂ?%'l

Both conclusions | and Ill b) Both conclusions | and I
follow sy | 3R 111 Y follow F=pY | 3R 11 gAY
B U SRR $RA B B UTe SRR R4 B

Both conclusions Il and Ill d) All conclusions follow qaft

follow Fswe || SR 1 G FISHY SFTERUT Hdl &
& 3R B B

Eight friends are sitting around a circular table at
equal distances from each other. Prateek is sitting
between Karma and Afsana. Afsana is third to the
right of Nivrati. Yogendra is between Nivrati and
Chatur, who is immediate left of Afsana. Damini is
sitting exactly between karma and yukta Who is
sitting opposite (in frontof )'s Chatur?

3T B TP TSR B & aRI AR TP o o JHH
R I T udiw, Fat 3R ABATT F diF 33T B
AT, FaRfa & a8 ol ey RIF W 31 9,

a)

c)

20.

a)

c)

21.

a)

c)

22.

a)

c)

23.

c)

24.

fRfa ok TR & dlw & a1 3, Wt warT F
fSapa awa # a1 iR Sor 71 g, uf ofiv gar
F S A 331 31 TR F St wwA B 81731 @2
Yukta/gaT b) Karma/&df
Damini/TTH=T d) Prateek/I<d

Which sequence of signs will replace the letter, A, B,
C and D to correctly solve the givenequation.

& e gfievur B IE <1 A g FA P g rerRy
A,B,C 3R D & R W Il &1 314 A1 HH 3MEm?
97A18B4C133D 19 =32

b) -x,+,+

X, +,+,- d + -x,+

X, -, *

Pointing to the photograph of a man, Hemant said,
'He is the father of my mother's daughter's father.
How is the man in the photograph related to
Hemant's sister?

TP fdd ® TR B 3R $URT Hd §Y, 89 1

HeT, ‘g8 A 4f Bt 98 F far &1 fUar 1 awRk |

gﬁqgamﬁ%ﬁaﬁm%mummﬁm

?

grandfather/calal b) Uncle/ Tl /HTHI/ BWHI/
A

Maternal grandfather / d) Father/fOdT
GICI

Roshan is facingNorth. He turns 45 degree in the
anti -clockwise direction. Then he turns 180 degrees
in the clockwise direction. He finally turns 90
degrees in the anti -clockwise direction. Which
direction is Roshan facing now?

AR IR B 3R g B WST ¢ | 98 aTHIad fG=m &
45 3% gea1 21 fR a8 oféromad fa=m & 180 3w
HeSdT B1 3id # a8 aTATad 1= # 90 3% HSdT1 21 3
A=A for = Y 3R Ug b WeT @2
North—east/GT’IT—Ul,@c b) South—east/a'f\&l'UT—‘:Ijnt
South-west/G &0T-afgH d) North-west/3TR-TfEH

Which two numbers should be interchanged to
make the given equation correct?

f&d T wterr #t wd FA F e 5 3 St
DI AU H ggo1 qMieg?

4x(16+2) - (72+3) x 18+ 12-14 = 22

12 and 14/12 3R 14 b) 12 and 72/12 3R 72

72 and 18/72 3R 18 d) 18and 16/18 3R 16

In a class of 75 students, every student participates
in at least one of the three events music, drama and
poetry. 12 studentsparticipates in all 3 events. 21
students participates in any two events. If 14
students participates in music only and 15 students
participates in drama only, then how many students
participates in poetry only?

75 BHEI 3 TP ST H, TP B 414 SRIHHI- W,
qe® 3R HfadT # § $9 A T TS SRIFH | HNT
AT g1 12 BF A1 SRIHH H U ad 51 21 BT,
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a)
c)

25.

a)
c)

26.

a)

c)

27.

a)
c)

28.

a)

c)

29.

fr=g) <1 PrdwpHl A YRT ad &1 afe 14 B Paa Sid
# T Ad & 3R 15 BT Had ACP d URT dd &, o

fpaq O Haa Hfaar & U A &2
12 b) 15
13 d) 14

Select the option that is related to the word pair in
the same way as are the two numbers of the given
word-pair.

I9 HOI-TH &1 999 &3, o §f 7€ 31 wemnaif
& d9 98t ey @, St faw T W' g #t gl

T@mait & o gl

7:329:7?

6:204 b) 5:80
8:212 d) 9:481

Select the Venn diagram that best represents the
relationship between the given set of classes.
Apple, Food, Fruits .

I 9 R BT TG HY, o 91 & A T g &
¥ Haet & gataw &1 A fARefud sar g1

Jq9, YIvH, Bd
, OD

@
, @

Two different positions of the same dice are shown.
Select the number that will be on the face opposite
to the having 6.

TS g1 U P S S-S fRuferat ueffa & 8 21
I UG T 999 F¥, Sl TS 6 I Bad & faudia
HaS W FI

2 b) 3
4 d) 5
Select the option that is related to the word pair in

the same way as are the two numbers of the given

word-pair.

Lipstick : Beauty Parlour

39 WS- BT 99 B, Rrad Ry e N ol &

g;ﬁwu%ﬁﬁﬁuww-w%ﬁm@%
|

forafes : died vy

Table : Furniture /A : b) DegreeCollege :
University/ eI -
fasyfaere

Chair:TabIe/ﬁ:f{Trf d) Pen: Exam/U : TRI&T

Select the number that can replace the question
mark (?) in the following series.

a)

c)

30.

a)

c)

31.

a)

c)

32.

a)

c)

33.

a)

c)

34.

c)

39 9@ &1 799 3, <l fAufefaa goft # uyaras

g (2) F ®IF W 31 Pl g
88, 81,75, 2, 66

70 b) 72
71 d) 68

In a certain code language, MIXER is written as
NKAIW. How will PARTY be written as in that
language?

U fAf3a Feurwr §, MIXER HT NKAIW & &7 &
ferar irar 81 SRA Hewrwr & PARTY @I frw wu &
ferar s

QCVXE b) QCUXE
QCUXD d) QDUXD
Mathematics

Who of the following had the shortest tenure as the
President of India?

HRA & IPUfd & U # 379 @ fraer sriera qaq
Bler 4

Shri Nerelam  Sanjiva b) Giani Zail Singh I o
Reddy #ft lam Woflg vgt  Riga@r

Gal

Dr. Fakhruddin Ali ahmed d) Zakir Husain 3. SfeR
ST BETEH Sfclt 3gHE  gA @I

Gal

Among the following personalityies, who was NOT
associated with PrarthanaSamaj.

Fafafea s & & $19 wd wwe das 76 3
Ishwar Chand Vidyasagar/ b) Atmaram Pandurang
EEREE /SATHRTH qIUGET
R. G. Bhandarkar/ 3fRR. Sff. d) M.G. Ranade/
HSRHR

THSH.

Which of the following statements about near water
is NOT correct?

R} 9@ ¥ IR # Fufifea § 9 919 91 $3F 98
TR

It is completely safe to b) It may be used as a

drink dg M & T%‘IQ moderator of neutrons.

quicar QRad 8| BT YART el | Hew
& =0 H o1 o 91 5|

It is not a radioactive d) Itis also called deuterium

substance gg Th oxide Eﬁ

S gerf & 81 gz +ff w1 ST B |

The formation of rainbow is NOT due to the
of light by suspended tiny water droplets.

=% YU &1 i ot 9 wefda g g6 grn
TSI S ___ & HRUIE g1 2

dispersion/qffﬁ'Uf:T b) reflection/URTad
refraction/3ddc d) absorption/&la'-‘ZﬂN'UT
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35.

a)
c)

36.

a)
c)

37.

a)
c)

38.

a)

c)

39.

a)
c)

40.

c)

41.

e & A Taf A @ Hafifk T fva = @
IASDIY U 3?

‘Nilgiri Tahr’, which was in news recently, is the
state animal of which state?

SRUIE Telangana b) aﬁaas Tamil Nadu
318 U= Andhra Pradesh d) TSR Rajasthan

7T 31 § APUfd WaT & I MSA PT ATH TGAPY
w1 9 fea w82

Recently the name of Mughal Garden of Rashtrapati
Bhavan has been changed to what?

3T 3&M Amrit Udyan  b) 3M=11& I Ashok Udyan

B4d ST Herbal Garden d) 3{HY 3 Amar Udyan
g 8 # gyt W Al A 5w www A Radmm
FATS3S BT IguTe fopam

In which state did Prime Minister Narendra Modi
inaugurate the Shivamogga airport recently?

HcH Karnataka b) AT Telangana
IS Odisha d) TSI Tamil Nadu
The Preamble of the Indian Constitution mentions

three types of Justice. Which of the following is
NOT included in it?

YR AU ot ywaran § &9 9eR & g &
IE §1 399 A B I 5HH ;e TE &2

Economic Justice/\?rITf?\fW b) Political Justice/ﬂG‘ﬁW
a1 g

Social  Justice/ATHINSI® d) Cultural Justicemm
=g =g

In the human digestive system, which of the
following enzymes converts protein into proteases
and peptones?

AMd U 9F §, 599 9 SIF-IT USTSH UidH 3l

wifedrs iR P # uRafda Hear a2
Pepsin/ﬁ'@ﬂ b) Lipases/?l'l'&'elﬁf
Maltase/ﬂ'lé\_r[ d) AmyIase/Qﬂ'IE@ITr[

If a costal area is affected by a high tide at 5 AM on
Tuesday, it should normally experience next high
tide at -

gfe ®Is A d¢ WIAaR Ht Fa§ 5 99 saR A
TUIId giar 8, A I8t A= ford awa SnTen Wk
SITU?

11.13 AM Tuesday b) 5.25 PM Tuesday /HTAAR
/AR a8 11.13 §o M 5.25 Fo

7.00 PM Tuesday /HTTldR d) 5 PM Wednesday /§HdR
M 7.00 T M 5 Fof

f5u I=0 PR A dfea it ot Afedt o stk
T & fe amifet ugw ufamr srdsw & qEd
T e i sifirm 3= far 82

Which state government has launched ‘Samagra
Shiksha Abhiyan' campaign under the Aarohini

a)

c)

42.

a)

c)

43.

a)
<)

44.

a)
c)

45.

a)

c)

46.

48.

a)

c)

Initiative training program to make daughters of
deprived sections self-reliant?

USTTd Punjab b) ¥R UCRT Uttar Pradesh
SIRWUS Jharkhand d) AU Madhya Pradesh

Which of the following software is used for running
MP 4 files on a computer?

PR T MP 4 BTsd UelRfd o1 & fag 394 @

5 AfredaR &1 waT fosar o 32

MS Offfic/TH T 3T b) MS-Word/(TH T I8)
Windows Media d) Adobe Acrobat/T8[§
PIayer/ﬁT‘&ﬁG{ Thfear @R

In the context of demographic history of India,
which of the following years is known as the - 'Year
of Great Divide'?

YRA & TR sfag & wed &, 399 9 forw
Y B TR 3H1® Ie S5 o1 oI 32

1921 b) 1931

1911 d) 1947

quE d9d AT P gRT WRY SRiga eng
IBTH B URT DI IS FT 37

What is the rank of India in the International IP
Index released by US Chambers of Commerce?

42 b) 44

46 d) 48

719 81 # Wpufa Sud gy 7 IoE & 5 e A
AT urd F1 Igure fHan

Recently President Draupadi Murmu inaugurated
the Constitution Park in which city of Rajasthan?

IR Udaipur b) SNYTGR Jodhpur
SR Jaisalmer d) SRR Jaipur

Among the following water bodies, which one has
the highest salinity?

wa e § 9 fPae! aauar gaifite
g 87

Lake Van/d& dTH b) Red Sea/dTd IFR (S M

Dead Sea/Hd UMR (S€ d) Great saltvlake/qg?[w
g (@I Fiee dh)

The chemical name of Vitamin Dsis :

faeTf? D &1 IS AW |1 e
Ergocalciferol b)
/

Cholecalciferol/

Phytonadione/

9]

d) Cyanocobalamin

Which of the following is NOT a rich source of
Vitamin B12?

fFrafafaa & ¥ w1 faef™E B2 &1 9= Hid 981 82
Sunlight/d BT UHTRT b) Meat/didg
Fish/H&dt d) Egg/3isl
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49.

c)

50.

a)

c)

51.

a)
c)

52.

a)
c)

53.

a)

54.

a)

c)

In the context of hormones and their function in
body, which of the following is NOT correct paired?

IR ¥ AT 3R 3P &1 & deH A, Fuferfaa &
A B A1 fgpeq T &1 | gia T 82

Prolactin-regulates b) Progesterone- support
female sexual behaviour pregnancy
Tidfde-nfgar-aH TRt 1 ST A &
HaER B FAfd Hrar ®

Adrenaline-increase d) Oxytocin-relases milk
cardiac output Q@Qﬁ‘ﬂ— during sucking
g frin 7 gfg oxar g HfiR-greuE &

R Y- BT §

In the context of natural satellites in our solar

system, which of the following statements is NOT

correct?

TAR AR Wed & Wiplae Iwel & e ¥,

e # @ o9 w1 sy T T &

Venus does not have nay b) Some of the

natural satellite [P I satellites have

DS UTpfas IwE Tl g oceans FB
BId &l

Mercury does not have d) Only planets have natural
any natural satellite §Y satellites. hdd &I &
?ﬁémmﬂiﬁ UIHfad IUUE B & |

I

Pernicious anaemia is a disease caused due to the
deficiency of:

natural
hidden

%w P! HH & FRUI G arelt A
I

Vitamin C/fdeTfiq ¢ b) Vitamin D/fdeIf®H D
Vitamin B1/fdai®F B1  d) Vitamin B1/fdeifiH B2

Which of the following is NOT an ore of copper?

frafefaa # 3 w1 97d &1 3P T8 87
Azunte/ﬁ@%ﬁr b) Bornlte/—qaﬂ_'ﬂ—sl_cr
Cuprite/&UIRC d) Argentite/&@%l%‘c’

During the early years of his reign, Akbar's rule was
actually run by his regent named:

AT RS S RS I & SR, AHaR BT
AEF Id | 7P WP AP GRT el

ST AT
Abdul Rahim/3feg@ T8I b) Mirza Hakim/forsT g1fed
d) Ulugh Bag/3q? T

Bairam Khan/a?"q@\f

Which of the following is NOT listed as a
Fundamental Duty in the Constitution of India?

# ¥ oH-91 Qv WRd ey &

ARt Bl & = A gdlas T8 82

To obey traffic rules b) To safeguard public
g FEdl &1 oueH property Tufay
BT DT FRET BT

To develop scientific d) To protect and improve

temper the natural environment

55.

a)

c)

56.

a)

c)

57.

58.

a)

c)

59.

a)

c)

60.

ICEaCERGI Ui gafaRur @) e

Td IGH GUR AT

Which of the following rulers erected his decrees at
public places?

Frafafad 9 1 fra wae 3 ardefre ®= w st
RTSITRTE AT HRars?

Chandragupta-ll /97W- b) Chandragupta Maurya/
K eI | A
Ashoka/ 32 J

d) Samudragupta/ HHIW
3

Governor General Canning decided that would
be the last Mughal king and after his death none of

his descendants would be recognised as king
TR S Ra $i 3 ok R f6 sifam

TS TS NN 3R IqHT o & 91 ITP HIg ot
RIS TSl & U | A= 8 g

Bahadur Shah Zafar/ b) Aurangzeb/3NTTold
dglgR RMMg WY

Jahandar  Shah/SIBIGR d) Shahjahan/RIgSTg!
UK

are the most abundant cells in blood.

Iqd ® waifis wgR uem & g WM ared

HIOTPTE B
Granulocytes/ b) Erythrocytes/ Eﬁiﬁm
Monocytes/ nﬁm d) Lymphocvytes/

_____ fought against king Han Ho-ti, who was the
king ofhan dynasty of Chine, and defeated him in
the second attempt.

AT gA-A-N A g frarur, AT F g9
TSGR & I A IR i v & 39 gvran A
Kanishka/®h

Bindusara/ﬁ@ﬂﬂ

The salary/emoluments of which of the following
official is mentioned in Part E of the 2nd schedule of
the Constitution of India?
YRd & Ay @1 gad UM S (F) A
fFafafea d 4 o sftem & da7/ wRafert «1
SwE R? |

The Personal Secretary to b) The Chief Secretary of the

b) Chandragupta
Maurya/iiaﬂﬁrﬁtf
d) Ashoka/3RI&

the Prime Minister/ Prime Minister Office/
qYHHA o foh afad & uumna; FAfT & T
gfa

The controller
Auditor-General/

Td HEIoRa Uleid &

and d) The Cabinet Secretary of
j the Union Government/

?W%Wﬁqﬁa

YRT B Ugell 3fsarex Al Jar fryg wrew # feuar

2023 9% T3 811 # Sufig
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a)
c)

61.

a)
c)

62.

a)
c)

63.

a)

64.

a)

65.

a)
c)

66.

a)

India’s first underwater metro service is expected to
be completed by December 2023 in which city?
3{gHaldle Ahmedabad  b) SIAYR Jaipur

DDA Kolkata d) HERIY Maharashtra

General Awareness

719 81 # for g1 A wfgan fbdex) @1 wwfa a3
¥ fog 3t va dsa o= fwam

Which country recently introduced the Debbie H
Medal to honor women cricketers?

IIAS New Zealand b) SR Australia
AU England d) exds Netherland
Which river is known as 'Tsang Po' in Tibet and

‘Jamuna’ in Bangladesh?
P 7 ®! fosga A @i Ot R @R ® WA &
AT & ST ST 82

Godavari/TGIaRt &1 b) Indus/ﬁi&[aﬁ
Brahmaputra/S@GA &1 d) Tapti/dIil &I
Dendrology is the study of:

BT AT B |
Soil/fergt b) Woody plants/@TSIg U1
Air/edl d) Water/dT1
To study the demands of the reorganisation of

states on linguistic basis, a committee was formed
by the Indian National Congress in 1948.the
committee was headed by

YTYTS SMYR R I8l & TS BT A BT eaa
o1 F g, 1948 A YR I FH TR @
})thﬁrmm%mwml g IiAfa & arae &=

S.K. Dhar/Tg.&. &R

b) Sardar Patel/dRaRR qed
P. Sitaramaiyya/ at d) JL Nehru/SITd. g%
RiGIRE
Which of the following mammals was declared

exitinct in India in1952 .

1952 ® YRa ¥ fFofaf@a & @ o9 a1 Wy uyp
faqua Difva far mar ur

Cheetah /=T b) Tiger /aTd
Asiatic lion/TREE RIE  d) Leopard/dg3il
Which of the following temples of Odisha has

historically been associated with a sweet called
rasagola which also helped Odisha win Gl tag for
the sweet?

Frafafed & & sifezn &1 o W iR AWeRie
w7 § TN e e fige | d@dfta @, e
firgra & Ry i W$a (61) o1 ST Sia &
+ft siifS=m 9t weTaa @t B

Konark  Sun  Temple/ b) Bhubaneshwar Lingaraja

c)

67.

a)

68.

a)
<)

69.

a)
c)

70.

a)

c)

71.

a)
c)

72.

a)
c)

73.

a)

HIUMH o7 Y AR Temple/ YaR &I
o £

Puri Jagannath Temple/ d) Cuttack Dhabaleswar

O3} &7 ST HfeR Temple/ HTdH BT YTAR

The normal
(approximate)

pH of human blood is

TG TS BT AT pH T g gl

6.4 b) 5.7

47 d) 74

g & O fhuq siafer § ugem 54 wRRA® v2.0
IuUE vafa fear

Who launched the first 54 Starlink v2.0 satellite into
space recently?

W ISRO
TIUH SpaceX

719 81 § 9% Rufere: & g agufd = T 72
Who has become the new President of 'Czech
Republic’ recently?

ﬂ'c;tﬂéﬁ Petr Pavel
el S Milos Zeman

b) T NASA
d) DRDO

b) Q%Gi CICR Andrzej Babis

d) /a9 Mitchell
Johnson

HERTE & A Teary Rig 7 gag # I Yo
W[ BT A TGP [bHb AH T 1@ HT TG
ur o 32

Maharashtra Chief Minister Eknath Shinde has
passed a resolution to rename the Churchgate
railway station in Mumbai after whom?

BIE]] GRE™ CD b) SNTRMI K]
Deshmukh Benegalrama Rao
et g PC d) Sl Rig .
Bhattacharya Manmohan Singh

X + Y = 3, XY = 2 8 A1 X® - Y* BT HHE 79 BA
If X +Y = 3, XY = 2, then find the value of X3 - Y3

5 b) 7
3 d) 9
Y &1 T RYSTeR URT et Yoy s 72m,

30m R 78m B, P20 WM T AR FT R A
HHAA B BT AR R 32

What is the cost of leveling a triangular section of
land with sides 72m, 30m and 78m respectively at
the rate of 20 paise per square meter?

¥ /RS 200 b) ¥ /RS 210

¥/RS 220 d) ®/RS 216

fraq g@u &7 6% aiff® o @ 10 9 & JruURYr
TS 120 ¥ WIS §IaT 82

At what rate of 6% of the principal amount, the
simple interest is Rs 120 in 10 years?

¥/RS 120 b) /RS 210
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c)

74.

a)
c)

75.

a)
c)

76.

a)
c)

77.

c)

78.

a)
c)

79.

¥ /RS 200

Tofta fpeft &l 3t 25 e & g1 HR Tl § wafes
3icft 59 20 o1 & HHTW HR WHar g1 A 5 A TF TH
Y SR Fa § SR fbe wofta B ar 31 Sl Rw
FTH ! @A T3 A fpar f& awmem

Ranjit can complete a work in 25 days while Anji can
finish it in 20 days. They work together for 5 days
and then Ranjit leaves. How many days will Anji
take to finish the remaining work?

d) /RS 180

9 days/ f&=1 b) 11 days/ f&m
15 days/ f&=1 d) 25 days/ fa=1

a1 PQRs foraa®t yairei ot dars
8cm 12c:‘:% YT 10 cm ST TP fIof g1 g

el 3t et T 3

A parallelogram PQRS with lengths of arms 8cm and
12cm has a diagonal 10 cm long. The length of the
second diagonal is approximately:

17.5cm b) 18 cm
17 cm d) 17.8cm

10 km/hr &1 TIfd ¥ Ta4 W 7Y U+ fayfaemea 15
e R | ugdt onrelt R, g S wf 2kmy/hr
¥g1 I §, Wy v ft 97 5 fiFe R | vgadt 3
TP W & fayfaemea ot g frait 32

Walking at a speed of 10 km / hr, Madhu reached
her university 15 minutes late. Next time, she
increases her speed by 2km / hr, but still arrives 5
minutes late. What is the distance of the university
from his house?

30 km b) 15 km
20 km d) 10 km
TS HIE, PIADT AU 3T PT 30% T & fHIT W

3R AT BT 60% WG T W WA &l 31 afg 98
Ud® HIE, 6300 B TTId Ha 8, A IUD| oo AIRYD
g fpartt 82

Each month, Kritika spends 30% of her income on
house rent and 60% of the rest on household
expenditure. If she saves 6300 each month, what is
her total monthly income?

25,000 ¥/RS b) 20,500 ¥/RS
22,500 ¥/ RS d) 22,000 ¥/RS
TP WIpidd WS &I o9 9, 10, 12 T 15 A faurm

far Sian 8, o U o’ ¥ 3 QW g9ar 31 T bt
HEmsi # gad oI wen B @ @2

When a natural number is divided by 9, 10, 12 or 15,
there are 3 left in each case. Which is the smallest
number among all such numbers?

123 b) 153

183 d) 63

21 V&i (@t fire) &1 |1ed 40 71 Tfe 10 Daon # A
%?Wnﬁmwﬁmmaﬁ,ﬁ&wﬁmwmw

a)

c)

80.

c)

81.

a)

c)

82.

a)

c)

83.

a)

c)

84.

a)

c)

85.

a)

The mean of 21 observations (all different) is 40. If
the value of each of the 10 observations is increased
to 21, the new mean of the observations will be:

30 b) 45

50.5 d) 50

g1 T=Tel &1 ART 9 §1 ST HhHI BT ART 1/2 §l
FHEN AATH 7 :

The sum of two numbers is 9. The sum of their
reciprocal is 1/2, One of these numbers is:

6 b) 2

5 d) 4

if /af¢ cot* 8+cot? @ = 3.6, then/dl cosec’d - cosec?®
=?

3.6 b) 0.6
24 d) 1.8

wa&nﬁgaﬁmﬁmﬁmm TP e |,
dsH! P 13 3Nd 3P U g, Safd dsfepal grRI
T 3 90 15 3| uﬁa&nmﬁaﬁﬂamzsﬁ
@t wen ® faenfial @Y $a e et griz

There were 9 boys and some girls in one class. In an
examination, boys scored 13 average marks, while
girls had an average score of 15. If the total average
of the class is 14.28, what will be the total number
of students in the class?

24 b) 27
25 d) 26

gfE 721 + 722 + 722 + 72 ®Y 25 A fQwfora fear sman
g, 9 A T a9 ?

If 72* + 7?2 + 7*® + 74 is divided by 25, what will be
the remainder ?

77 b) 17

5 d) 0

Ul & TP &P HI o9 ursul X, Y 3R z F wremw |
Sh H HRT (TG 3| UISY Z UTSY Y | i 41 991 § iR
I3Y Y UI3Y X A SHHET o 21 uﬁ’r%%aﬁmx
et WA H fora=r Wy e

A tank of water is filled through three pipes X, Y
and Z in 5h. Pipe Z is three times faster than pipe Y
and pipe Y is twice as fast as pipe X. How long will it
take to fill the water tank with pipe X alone?

40 Hour / ©¢ b) 35 Hour /°c
60 Hour / ©c d) 45 Hour /©c

gfe ¥ TP ag B Rs 595 & J°aT §, ?ﬁg‘s’: 9% WIH
WIW giar 81 afe # 39 Rs 475 ® S9a1 §, o 43 8
I ATY T FI BT wir=rd w1 32

If I sell an item for Rs 595, then | get 19% profit. If |
sell it for Rs 475, what is the percentage of profit or

loss that | get?
b) 5% Loss /% g

10% Profit /elTH
10% Loss /T d) 5%Profit /aTH
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86.
a)
c)

87.

c)

88.

a)
c)

89.

a)

c)

90.

c)

91.

a)

92.

a)

c)

2

=7 a
gfeyif a dl/then a? =?
51 b) 54
53 d) 52

Ife sind - cos d = 0 &, A sin*dp +cos* p+tan? p BT
A T §RM?
If sing - cos ¢ = 0, what will be the value of sin*¢
+cos* p+tan? ¢?

7/4 b) 3/2
2 d) 5/4
TP YS! 110 m T WehH $I 13.5 AP # M

205 m 9 WEHIH B 18.25 s A TR B STl &1
Yermst @t fa w7 iz

A train crosses a 110 m long platform in 13.5
seconds and a 205 m long platform in 18.25
seconds. What was the speed of the train?

66 km/hr b) 69 km/hr
72 km/hr d) 75 km/hr
gfe Rs 686 &I IR W # faurfora foar war g,

1 2
R arqura 3701 R, o v wr R e

If Rs 686 is divided into four parts, whose ratio

1 2
is2 3° , what will be the first part?

Rs 48 b) Rs 52

Rs 42 d) Rs56

84 Tiex @dl fhdt TN #17 : 5 F Irgurd & qieT 9w
i e g B oiars (Hex #) gt 82

If a rope of 84 meters long is divided in the ratio of
7: 5, the length of the long piece (in meters) is

50 b) 45
42 d) 49

Ifd cota = V2 + 18, @ tan a - cot a BT A fbadT
ghm?

If cot a = V2 + 1, then what is the value of tan a -
cota?

N2 -1 b) 1-v2
-2 d) 2V2
20i 56l .
26 T WA P TH SSA TP 5 wal B P

&S| 99 gU TS B aaTs [ 82
1
A% long rod was cut from a rod of

What is the length of the remaining rod?

00—
26 long.

11 7
36— —
130 b) 36 130
3
36— 36—
130 d) 6 130

93.

a)

c)

94.

a)
c)

95.

a)

c)

96.

a)

c)

97.

a) 4

c)

98.

c)

99.

ST SOeft | | 24 aff B 71 e WAl F 9Ig
IAD! Al B waﬂmaﬁs/sgmiﬁamﬂl
S a?h:rﬁ Mg (st /) forerht 82

Jeena is 24 years younger than her mother. After
eight years, her mother's age will be 5/3 times her
age. What is Jina's present age (in years)?

26 b) 24

28 d) 22

T U H 455 = 3 o 1 &, 2 = a1 5 & & Rigds
PURM: 2:4:5F IJUd # 3 N ¥ 2 & & Ryapl at
HET fpat 3 2

There are 455 rupees in a purse in which the coins
of 1 rupee, 2 rupee and 5 rupees are in the ratio of
2: 4: 5 respectively. What is the number of rupees 2
coins in the purse?

26 b) 52

65 d) 13
Fafafea % @ sl "B 16384 w1 I ga 32

Which of the following numbers is the square root
of 16384?

132 b) 128

118 d) 122

feu e wu F 2091 ug FaT FRM?

What will be the 20th term in the given order?
-50, -47, -44,

-10 b) 10

-7 d) 7

4léx[{ 12 x (24 — 13 — 3)} + (20 — 4)] =?

b) 6
5 d) 3

(QUES:98 - 100) The table given below shows the
runs scored by 5 players in four matches.

T & 1€ e A 5 f@arfsal & gt IR = #
T Y 341 H S2TaT I B

- Player/farenst Match/fe

11 1 v
55 135
35 9N 72
68 75 85
55 60
110 125 122

monml:»
=|5(8(8( -

What is the difference between total runs scored by
A and B in four matches?

A YT B & GRT IR T & 991¢ ¢ o 1 & fbaem
ARG ?

111 b) 123

98 d) 135

Runs scored by C in match Il is how much per cent
more than the runs scored by C in match I?
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G AT § € & §RT §91C Y 3+, Ugd A9 § C & GRI
Y Y 3 & fora wfo=ra it 8 2

a) 11.76 per cent/Hfa=Id b) 16.66 per cent/Vd=Id
c) 17.12 per cent/Sfa=Id d) 13.33 per cent/Hfa=Id

100. Runs scored by A in match Il is what per cent of the
total runs scored by these five players in match 11?
T A9 H A & §RT §91¢ 7Y ¥, 59 Uid fQarsal
ERT gOY 89 & §I1¢ 1T $f T 1 foba- ufa=ra & 2
a) 71.07 per cent/Sfd=Id b) 35.14 per cent/Wfd=Id
c) 28.92 per cent/Hd=Id d) 55.13 per cent/Sfd=Id
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